MZNEZ (2014/10/30)

1. (69) % f(x) = (1+2%)%, K f'(2).
sol:

f/(flf) _ di(l + :L,Z)x _ iemlog(l—‘rm?)

dx
d
= d—(x log(1 +x )) @ log(1+a%)
21’2 2
1 ) zlog(14+2*)
< + 1 + 72 ¢
= (1 +2*)"log(1 + %) + 22°(1 + 2*)* .

2. (79 RERR 2 + ¢ = 3ay + 3 7E (1,2) B2 ISR,

sol: We only need compute the slope (i.e. dy/dz) at the point (1,2). To do so, we derivative the

equation with respect to x and get

o dy dy
322+ 3 — 3y + 32
:c—iryd y+:cd

Now (z,y) = (1,2) gives
dy 1

dx 12 3
1
Hence the tangent line is given by y — 2 = g(x —1).
3. (792) FIBRIMEEIEAEGE V629 2{E.

sol: Let f(x) = /x. We have f(629) ~ f(625) + (629 — 625) f'(625) by using linear approxima-

tion. Hence

1
V629 ~ 5 + 4 = 5.008.
4V/625°



